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FAN AZUSH
¥ 1S A NWH(LSUEF/UHSLS - =J[SIIE)
ol nsdF 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,000
s 7,000
01 At2tltl 11,200 3,000 8,200
OLg2dt 28HAS gy dEE X
o 200,000 +56 % 11,200
= 1,200
< 3,000
= 7,000
HESns oM B2 (NSAER/USRS - SRS 2,358,200 2,368,875 210,675
FAEAN E2E 1,663,000 1,698,000 /35,000
=AY 22l € =A 1,663,000 698,000 965,000
101 ©1AH| 10,000 10,000 0
04 JIZtN2Z2XNSE+ 10,000 10,000 0
OTYFXF EHDI 2121H)
100,000 x10E 102 10,000
201 er23 | 142,000 127,000 15,000
01 At2teltl 142,000 127,000 15,000
SUF=RE SRz 100,000,000 100,000
OYthExE Eab|
5,000,000 «6IH 2 30,000
O3 (d)=xE sX2ell
5,000,000& 22 10,000
ORHEX g A2z 500,000 <23 1,000
OALSHANE AQIX U=
500,000 22 1,000
401 Al HIZ R 0HbI 1,511,000 561,000 950,000
01 Al&H| 1,511,000 561,000 950,000
OFXE X 8 S24s2
2,000, 0002132 2 6.000
OB (LHFAHE Al
25,000,000 #20H 2 50,000
OZEXT BHBI&2R
1,000,000& %52 5,000
OSgFxd =g A
500,000,000 * 14 2 500,000
OdEs F=IEH &4
950,000,000 *10H 2 950,000
wSHE A= 2t 563,900 549,075 4,825
wNSHE A= 4XI 483,900 392,900 91,000
401 AIEHIX R0 483,900 392,900 91,000
01 A28l 483,900 392,900 91,000
OusSodE AIE= &X 71,900
—BhARE & X 700,000 56K 2 39,200
—nSHEIE &1 250,000& * 1494 2 3,500
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SN ALDED
M Ens N H#2(NSEESR/HSLS - S/SIIE)
Rl WECHH AIEE 2l (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ceREAm 21 ¥ 24
400,000 * 107 2~ 4,000
—gd2s €1 900,000 28K A 25,200
OHAsdd &1 20,000,000 * 104 £ 200,000
O8dES OFtxY &X
5,000,000 574 2 25,000
ORddls St BEAX £X
8,700,000 * 10JH £ 87,000
OL=E=I4et X
50,000,000 *2JH 2 100,000
wsHd AldE 2l € R 70,000 70,175 A175
201 Ler23 | 35,000 36,175 A175
01 At2t2ltl 35,000 36,175 AT75
OHASUY F¢ #2TY)
5,000,000& 72 35,000
401 A& HIX R0 35,000 35,000
01 AlZH| 35,000 35,000
OuSAHTAIZE FX2c 35,000
—WSUHMAIL(MS S, BIAIE S) HEM
7,000,000& *12] 7,000
—HASHE 4,000,000 7K 2= 28,000
=Y FEI g 141,300 121,800 19,500
=Xt &= 141,300 121,800 19,500
201 er=23| 59,300 39,800 19,500
01 AtR2te|Hl 8,000 11,000 A3,000
OSY=EL Ak - o5 WsSs3s § 7Y
20,0002 *150H 3,000
OS8xFEX Nk - &= AEIH WA
200& *25,0000HK 5,000
2 352484l 51,300 28,800 22,500
OREHT ALEZ X S|
400,000 1200 & 4,800
ORSHE ALEA XY 224l
300,000 %102 3,000
OSAIIHA FERE S CCTV R AIE 4|
350,000 «5LH* 12042 21,000
OSYZEIT HEXY AREX ATEF 0]
=Py 16,000,000 *1CH 16,000
OS Y8t HEAE Jtlilet o1&l
6,500,000 1CH 6,500
405 KHaHE SH 82,000 82,000
01 Tt =S F=HI 82,000 82,000
O=Sg=axt & dIIx 7Y
82,000,000 »1CH 82,000
s 1S |4 NY(nSSF/Hsns - 27 2,772,442 2,511,249 261,193
[ 50,000
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FAN AZUS W
M 015 1S 54 N(DSLER/HSDE - 22SIIE)
2ol 2 Exs N (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 223,008
s 2,499,434
2H 22X X 2,772,442 2,161,257 611,185
= 50,000
== 223,008
[Ea 2,499,434
22 BESX(XHH) 1,886,210 2,036,257 150,047
307 212+01& 1,885,203 2,035,203 A150,000
02 2B HAHE L 5,280 185,280 A150,000
OEAIRS JtE Sda K&
5,500 »80CH*12IH & 5,280
B 2=gHEXS 1,879,923 1,879,923 0
O=2+gH |IE=3(128)
700,000,002 700,000
OS0EHA Hl4oles 2a8M3
177,480, 7503 42| 709,923
OHUQSH caBAS
117,500,000& 42| 470,000
403 AXIEHMSA=0l1d 1,007 1,054 N7
02 SISOt =2 A P E A I 1,007 1,054 N7
OeASBEIERINAY 2| 293
1,007,000& 1,007
1008 Al X1 150,000 125,000 25,000
= 50,000
= 15,000
o 85,000
307 @120l & 150,000 125,000 25,000
[ 50,000
= 15,000
[Ea 85,000
2x-gHEXS 150,000 125,000 25,000
O1003 EAl X1 150,000,000 150,000
[ 50,000
= 15,000
= 85,000
0l SEAl 23HI 176,200 176,200
307 el2to| & 176,200 176,200
02 2B YAIHE A 176,200 176,200
OZHRISEAl 2| X2
44,050,000& %42 | 176,200
2+ BEESXA/(EX) 349,992 0 349,992
< 174,996
= 174,996
301 EtE NS 349,992 0 349,992




FAN AZUS W
ZH: (fF DS 54 N(DSYSH/HELS - 23S
ol 28 223 XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 174,996
s 174,996
14 IIEt2 8= 349,992 0 349,992
O=0EHA HEXAZ
87,498,000& 4= | 349,992
= 174,996
Ea 174,996
WSA BIRXEAl KIEAS 110,040 0 110,040
== 33,012
o 77,028
307 212+01& 110,040 0 110,040
< 33,012
= 77,028
09 2+-AE2LES 110,040 0 110,040
OuSAA HILMEAl X2 A
9,170,000& 1290 & 110,040
= 33,012
Ea 77,028
ZOHIZSEHAl 2 100,000 0 100,000
405 AtaHE = 100,000 0 100,000
01 TR ESFISHI 100,000 0 100,000
OZOAUZEAl 2 50,000, 0002 =2CH 100,000
Y2 ZHI(HE S (OIEHIIE 199,079 182,060 17,019
elIg =g 91,286 88,226 3,060
el =gl 89,846 88,226 1,620
101 @12A4H| 89,846 88,226 1,620
01 2 89,846 88,226 1,620
OHHWEN A2t 222 89,846
—2eHy 89,846
- 65 12,3212 «6H*30AI 2+ 1200 2 26,614
s 11, 1302 <8 *30A| 2t 1200 & 32,085
- 8= 9,992 x5 *30AI 2t 1200 & 17,986
- 92 9, 1602 x4 *30Al 2t 1200 2 13,191
CIA2SH(SRAZZA) 1,440 0 1,440
202 04| 1,440 0 1,440
01 =LHO LI 1,440 0 1,440
OHEusl S 2 EH0Y|
20,0002 «3H x4 L6042 1,440
Jl=3H| 107,793 93,834 13,959
Jl2dH(HLnsn) 41,160 36,220 5,940
201 er2 3| 38,820 33,780 5,040
01 AtR2t2|HI 37,200 32,160 5,040
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FAN AZUSH
T #YSHAY|(ALDED) OIEHIIEN
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAMRNED Y2ET NLBE 12
10,0002 *37& * 1270 2 +80% 3,552
OALWED PRET 2ART 7Y
25,0002 %37 H+0. 62 A+ 1270 2 +80f% 5,328
OMe= DXAMEs ST
60,0003 202} A 1,200
OHEUEN AR S| SRi=
500,000 *2CH* 12042 12,000
Od&usi Ty B+ 13,200
—SH 250,000 x2CH* 1200 6,000
—2Zct 300,0003 =2CH* 1200 2 7,200
OALNSH ARID| #=2l S NHIZ(SA
I, WA F) 200,000 #1270 E +80% 1,920
02 S3=gHl 1,620 1,620 0
Od4uSH MRa et Hotes
135,000 * 1204 & 1,620
202 04| 2,340 1,440 900
01 =LHO LI 2,340 1,440 900
Odldlel dtxt2 =M SALL 0|
20,0003 x30H 3 2,340
Jl23Hl(HLF ) 24,033 19,068 4,965
201 er=23| 16,032 14,49 1,536
01 AtR2te|Hl 16,032 14,496 1,536
OAHEEHE HRFA S
8,000 x7H+60 *80% 2,688
OALHAUE YREX NPBE 7Y
20,0002 +7H* 1204 2 +80% 1,344
OXNe & O=2? HEAE =& Xtef Xt
= 12,000
—gx= 600,000& * 12043 7,200
—C2ad & =AY 7=l
400,000& 1220 2 4,800
202 04| 8,001 4,572 3,429
01 SLHoIH 8,001 4,572 3,429
OHEIHY LRI 2U EEE0YI
20,0002 *7 2+« 1204 2 x30% 4,536
OAENHUE AREZ Bl SO
110,000 7 *3L x53| x30% 3,465
JlE2Zu(E=E) 14,904 14,904
201 et 3| 5,760 5,760
01 At22t2l] 5,760 5,760
OE=Eg g0 S|
8,000 x8& *602 x80% 3,072
OYULEF ARBE 7
20,0002« 142 1270 2 +80% 2,688
202 048l 9,144 9,144 0
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FAN AZUSH
T #YSHAY|(ALDED) OIEHIIEN
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 9,144 9,144 0
OS2 2 5tEwe g 2 SH0I|
20,0003 x8EH+9 1201 & +30% 5,184
Otz % otdac| HRFa 22 EF04I
110,000 x82 x32 x52] *30% 3,960
JI2ZHIOIg=4E) 7,068 7,260 A192
201 2= 2,49% 2,688 A192
01 AlR22IH| 2.4% 2,688 AP
OJIgEMgYy exd ey
8,000 x4 & 602 «80% 1,536
OYTEE AREE T2
20,0002 x5 EH 120 2 +80% 960
202 04| 4,572 4,572
01 2K 4,572 4,572
OJIg =8 e =2 2 E08I
20,0002 x4+ * 1201 2 «30% 2,592
OJlgtrdeg e =8 22 £280i|
110,000 x4 »3& x52| +30% 1,980
Jl23I(H2eld) 8,59% 6.876 1,719
201 eer23| 2,880 2,304 576
01 AtR2t2|HI 2,880 2,304 576
OXSNHE HRFA S
8,000 x5 +60 & *80% 1,920
OECESIPES-+- 1]
20,0002 x5 1204 2 +80% 960
202 04l 5,715 4,572 1,143
01 =LHAHI 5,715 4,572 1,143
ONct2e|g e =& 2 E2&04|
20,0002 x5 +92 1201 2 «30% 3,240
Ot e =& 22l E08I
110,000 x5 & 32 x52] *30% 2,475
JlEZbl(nss) 12,033 10,506 1,527
201 Ler23 | 4,032 3,648 384
01 Al222lH] 4,082 3,648 334
ORSY YT 3|
8,000 7 +60 »80% 2,688
OYPEA ARBE 7Y
20,0003 *7 E =120 2 +80% 1,344
202 04| 8,001 6,858 1,143
01 =LHOLI 8,001 6.858 1,143
OLSER =& 2L £2&044|
20,0003 x7H*92 * 1200 2 x30% 4,536
OREAD EX ol O
10,0002 x7 & +3& x52| «30% 3,465
WRES(HENSW) (SSEANLAA /T - 2IS) 116,000 121,572 Nb,572
LIS HHXIE 116,000 121,572 Ab,572
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FAN AZUSH
I WRES(ALDSIH) (BBEMLOE /LT - 2I9)
=l WRAAXE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
WA XIE 116,000 121,572 Ab,572
(VAP TSE= 116,000 121,572 Ab,572
01 JIsdES 116,000 121,572 Nb,572
OoNt2el= 88 dEs
116,000,000 116,000
N 2 TADHE (sEagdd/s2 - &) 4,325,389 0 4,325,389
KIS ALS 4,325,389 0 4,325,389
OIS ERIHE ALY 4,325,389 0 4,325,389
101 @124H| 27,104 0 27,104
M ORIMZZ2NSE S 27,104 0 27,104
OAEI M JIZtHZ 2 At 2l 21H| 27,104
—Jl2= 76,9603 x 12 #2552 19,625
—F5=4 76,9603 x 1 »53== 4,079
—AMEEE 200,000 x1&* 12042 2,400
—g&d0=2 500,000& 22 1,000
201 er2&| 3,000 3,000
01 At2teltl 3,000 3,000
OSI101d =28 3,000,000& 3,000
203 HR=AH] 3,000 3,000
03 A=A PR FA| 3,000 3,000
OGS 2 HEAI AIM2E JRFEY|
3,000,000& 3,000
401 Al HIZL 201 4,292,285 4,292,285
01 Al&HI 4,280,000 4,280,000
OO A 21284 L F|
20,000,000 1524 300,000
OUtSERINEAIY AAEH SSb|
200,000,000 200,000
OOISSISDHLAIY 27 52 L 01FS)]
2,000,000 x50 100,000
OAEE 2dtgel =2 ZHISA
20,000,000 *1IH 2 20,000
Otl=E HEZl == FBISA
20,000,000 * 190 2 20,000
O8ES ZMel s2EESA
25,000,000 * 10 2 25,000
OXES g4 s2EEIAM
20,000,000 * 100 2 20,000
Otl=E =Xl == FBISA
60,000,000 *1IH £ 60,000
OAEE Mecl ti==2 ZHISA
20,000,000 * 14 2 20,000
OAEE &l == EHISA
30,000,000 *10H 2 30,000
O&=E WAHED B2 ZHISA
20,000,000 * 190 £ 20,000
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A A4S

ME: N Y AN (ALY - 5E)
St RIGHE AL
SA - ZB . 9(B) - NIRAD - BaS ol b A

OREE A Sel =2 ZHIZA

35,000,000 100 & 35,000
OTTS Zate| HHSAE

15,000,000 * 10 2 15,000
ONEZ &=l HHSA

20,000,000 *1IH A 20,000
OtEg dF12l HHSA

20,000,000 100 & 20,000
O=ZUH =2l =2 EHISA

20,000,000 *1JH 2 20,000
OZ2UH =X s2EZHESA}

20,000,000 *1IH 2 20,000
OZLHH &ote| etz && EHU|ISA

20,000,000 100 & 20,000
OZUH 2Sate] a2 ZHISAL

20,000,000 *1JH 2 20,000
O=UWHH =&l th+=2 ZHIZA

20,000,000 *1IH 2 20,000
OZUHH Lis4tel =2 EHIZA

20,000,000 100 & 20,000
OZLHH CHALZI etd OtAE ZHIBAL

20,000,000 *1JH 2 20,000
O=ZUH EH0I= =2 HUIZSA

30,000,000 *1IH A 30,000
OZUHH S&t0tE =2 ZHIZA

25,000,000 100 2 25,000
OZUH ASOtE =2 ZHIZA

30,000,000 *1JH 2 30,000
OZUH ots0tE F=XE AIEZA

25,000,000 *1IH 2 25,000
OZUE Edel IHHSA

20,000,000 104 2 20,000
O =&el o2 JHISAt

20,000,000 *1JH 2 20,000
OZLHH L2l HAHSAL

15,000,000 * 10 2~ 15,000
ONZH AS2| SZEEISA

30,000,000 104 & 30,000
OLO=H ple| 89 EXISA

30,000,000 *1JH 2~ 30,000
O1nzH 22| =2 FHIZA

30,000,000 *1IH A 30,000
On=H NEe| =2 ZHIZA

30,000,000 104 2 30,000
Oz QAL sZ2EEIA

25,000,000 *1IH 2 25,000
On=H ZALE| =2 FHIZAL

35,000,000 *1IH A 35,000
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=N AEDSD

ME: N Y AN (ALY - 5E)
s XISIHE A
S A - BRI - HRA - BES of e A

O1NZH 242 s2EZIAM

30,000,000 * 100 2 30,000
O1=H 20f2| =2 HBISAH

40,000,000& *10H 2~ 40,000
On=H |2l HAHSAH

20,000,000 *10H 2~ 20,000
O2ald =XIcl ti+== ZHISA

20,000,000 * 100 2 20,000
O2aH At™el AF EXISA

25,000,000 *10H 2~ 25,000
O2ald =otel B2 ZHISAt

25,000,000 *10H 2~ 25,000
O2ald HAC| == ZHISA

35,000,000 * 100 2 35,000
o2l Sl sZ2EESA

35,000,000 *10H 2~ 35,000
O24al® Alote| etz OtAE EHZA

30,000,000 *10H 2~ 30,000
O2ald Fie| == JHISA

45,000,000 * 100 2 45,000
O2lalH slde] =2 FHISAH

45,000,000 *10H 2~ 45,000
OorIH =2l 2 X At

25,000,000 *10H 2~ 25,000
O24ld &5l == JHISA

30,000,000 * 100 2 30,000
O2ldlH ot=2l == FHISAH

35,000,000 *10H 2~ 35,000
O &e| s2EHIA

20,000,000 *10H 2~ 20,000
Og2ld Hadl == SHSA

20,000,000 * 100 2 20,000
Og2ld ssic| &2 Bi+Z ZBISA

20,000,000 *10H 2~ 20,000
Ogzle S0lcl SE EXISA

75,000,000 *10H 2= 75,000
Og2ld 5tolcl ti+== ZHISAt

40,000,000 * 100 2 40,000
Og3ls Dite| oSk FHISAL

25,000,000 *10H 2~ 25,000
O MLAlLl B2 ZHISA

30,000,000 *10H 2~ 30,000
Og2ld gl 34 &XISA

40,000,000 *1IH 2 40,000
OgaH 2X2| =2 SHSA

20,000,000 *10H 2~ 20,000
Og2ld &0lcl == ZHISA

55,000,000 * 104 2~ 55,000




FA AZUS W
3 XS & A (sl i/s5Y - &)
Rl XIS IHEALS (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Og2ld HSc ot HEHSA
25,000,000 * 100 2 25,000
ORXatH 252 =2 FBISA
20,000,000 *1IH 2 20,000
OXMtH S| s2EEIA
25,000,000 * 11 2 25,000
OXI4HH G2 ME| S2EEHSA
35,000,000 * 100 2 35,000
OXl&te stEel =2 HHISA
40,000,000 *1IH 2 40,000
OXI¢tH otesel WEIRIFE ZXISA
10,000,000 * 104 2 10,000
OX¢tH N2 s2EEIA
35,000,000 * 100 2 35,000
OXl&te ath0ke| =2 HHISA
25,000,000 *1IH 2 25,000
OXl&te Y| =2 ZHISA
25,000,000 %11 2 25,000
OXl&HH 510k sZEHSA
35,000,000 * 100 2 35,000
OXl&H HH2l =2 HBISAH
40,000,000 *1IH 2 40,000
OXl&te eteel otz HISA
30,000,000 *10H 2~ 30,000
OXl4He Jixlel sS2EFSA
30,000,000 * 100 2 30,000
OxEH 222| =2 SHSA
35,000,000 %10 2 35,000
OXEY LHEel s2EESA
20,000,000 *10H 2~ 20,000
OZxEH S+cl == ZHISA
45,000,000 * 100 2 45,000
OZXEH (0I2] == EHHISAH
20,000,000 *1IH 2 20,000
OZXEH 0lFxel ot OtAZ ZESAL
15,000,000 * 104 15,000
OZxEH S+l == ZHISA
40,000,000 * 100 2 40,000
OXEH =2l ZZ FHISA
25,000,000 *1IH £ 25,000
OAE=E WAEDES HWAHSA
20,000,000 *10H 2~ 20,000
ORTES +8012 WHBM
20,000,000 * 100 2 20,000
O E EFI10I2 HHSA
20,000,000 *1IH 2 20,000
O&EE AXS0IS HHEAM
20,000,000 *10H 2~ 20,000
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A A4S

ME: N Y AN (ALY - 5E)
S| XIGINEALS
SA - B S (BH) - MISAY - B2 Ofl by A

OXEZ =X0E MAHZSAH

20,000,000& * 100 2~ 20,000
OXES HE0IE sSTEEHSA

20,000,000 * 10 2 20,000
OXES ANEOIS sZEEZHEZA

10,000,000 & * 101 A~ 10,000
OXES WSS sSEEHZA}

20,000,000& * 100 2~ 20,000
OFES ZR0IE sSEHSAH

15,000,000 * 101 A 15,000
OXES ZR0IS HHZ2AH

20,000,000 * 100 2 20,000
OlTS A0S HHZAF

10,000,000& *1JH A& 10,000
OFEES =2X0I2 =22 At

20,000,000 *1JH 2 20,000
ONTE =HIS SHTA

20,000,000 * 10 2 20,000
OXEE ZAOS HHZAH

20,000,000& * 100 2~ 20,000
OXES OIS HHEZ2AH

20,000,000 * 10 2 20,000
OZLHH ot30tS HHZ2AF

20,000,000 * 10 2 20,000
OZUHH =&0IS HHZAF

20,000,000& * 100 2~ 20,000
OZLHH HADIS HHZ2AF

20,000,000 * 10 2 20,000
OZUE Al=S0tS SIZ2AF

20,000,000 * 10 2 20,000
O Li2loE HAHASAH

10,000,000 *1JH A~ 10,000
OZUWHAH LielotsS sSEHEAH

10,000,000 * 101 A 10,000
O2WH ADIOFS HHZSAH

15,000, 000& * 101 A~ 15,000
OWH EIH0IS o HAHZAH

15,000,000& *1JH A 15,000
OZUHH A0S & EHIZAH

15,000,000 * 101 A 15,000
OZUH =X0I2 =2 sSAZ2A

15,000, 000& * 101 A~ 15,000
O2UH 201012 sSEHSAH

15,000,000 & *1JH A 15,000
OZHH CHAIOIS JHHEZAF

20,000,000 * 100 2 20,000
O2WH AXOLES HHZSAH

20,000,000 * 10 2 20,000
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ME: N Y AN (ALY - 5E)
St RIGHE AL
SA - ZB . 9(B) - NIRAD - BaS ol b A

Q=™ OratOtE JHHSAL

20,000,000 100 & 20,000
O1NZH LR0I2 SIHSA

10,000,000 * 10 2 10,000
ONz2H St s=ZESA

10,000,000 * 10 2 10,000
Oz g=sits 8EEUISA

20,000,000 100 & 20,000
ONZH NEi2 SUSA

15,000,000 * 10 2 15,000
ONZH QQUAIDIE HAHSA

20,000,000 *1IH 2 20,000
Q1= JHAHDIE IHWHSA

20,000,000 100 & 20,000
O™ delits F=XHEEZEIA

20,000,000 *1JH 2 20,000
O1NzH ol2lts s ZESAt

20,000,000 *1IH 2 20,000
O1nzZH NElts s ZESA

20,000,000 100 & 20,000
OLald o202 SUS A

10,000,000 * 10 2 10,000
OLalH MEDIEZ IHAHSA

10,000,000& * 10 2 10,000
O2alH HEDIZ IHHSAL

15,000,000 171 2 15,000
OoulH 20H0ts ST AIE3A

20,000,000 *1JH 2 20,000
OQlalH S20i2 SY3AL

20,000,000 *1IH 2 20,000
OoalH =elitE IHHSA

15,000,000 171 2 15,000
OolAlH =2|0t2 =23 At

15,000,000 * 10 2 15,000
O2alH =302 IHHSA

20,000,000 *1IH 2 20,000
O24lH 6l=0t= otd ZHISAt

20,000,000 104 2 20,000
O2aIH AIEDIZ IHWHSAL

20,000,000 *1JH 2~ 20,000
O2LAlH OrADIE IHAHS A

20,000,000 *1IH A 20,000
OLJalH ZSUH0HE IHAHS A

10,000,000 170 2 10,000
OLaIH SEOIE IHAHSA

20,000,000 *1JH 2~ 20,000
O2alH JACOtE IHHSAL

20,000,000 *1IH A 20,000
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EA: HEnEH
HzH: XY L TADHE (sEHHSEA/sE - 55)
EHR . RIL AL (S &S
S - FB . G(BIH) - NRAY - BAS Ofl aro e HDE2
OL2AIH HEOS MAHZSAH
20,000,000& * 100 2~ 20,000
OY3H SE0S ot MNHZAE
30,000,000 * 10 2 30,000
O3|H HAEDIS SMZAH
10,000,000 & * 101 A~ 10,000
OYsY SHOIS DHHESA
30,000,000& * 100 2~ 30,000
OY3IH AAONS o2 HHZAL
20,000,000 *1JH 2 20,000
Oea|dH MAAIDIS HHZAL
20,000,000 * 100 2 20,000
OYsIY DHOIS HETA
20,000,000& * 100 2~ 20,000
OXIAHH JIXI0FS HHEZAF
20,000,000 *1JH 2 20,000
OXIAH OIX0IE s2EHZBAF
10,000,000 & * 101 A 10,000
OX(H BHENIES sS2EEHSAF
20,000,000& * 100 2~ 20,000
OXAHH Z=20tS IHHZ2AF
30,000,000 *1JH 2 30,000
OXAHH MY OIS SHZAF
20,000,000 * 10 2 20,000
OXAH BH0IE s EEHSA
20,000,000& * 100 2~ 20,000
OXAHH AZo0lE SREXZA}
10,000,000 * 101 A& 10,000
OXAtH L2012 s EZHZAL
20,000,000 * 10 2 20,000
OXNMH AHOIS HHZ2AE
30,000,000& * 100 2~ 30,000
OX(H AMR20IS ASS At
30,000,000 * 10 2 30,000
OXIAH OIX0FS HHZAH
20,000,000 * 10 2 20,000
OXIMH SXI0E HAHASAH
30,000,000& * 100 2~ 30,000
ORXIAHH 20H0FS JHHEZAF
30,000,000 * 10 2 30,000
OXAH MABEOIS s2EXZA}
20,000,000 * 10 2 20,000
OXIAHH A0S JHHZAF
20,000,000& * 100 2~ 20,000
OXEH JIAIE17? HXE AIEZ2AH
30,000,000 * 10 2 30,000
OXTH JIAIE27 SHZ AL
30,000,000 * 100 2 30,000




A A4S

ME: N Y AN (ALY - 5E)
EHR . RIL AL (SH &)
= = olE|
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
OXEH WHDIS & AEZAH
30,000,000 x1J4 2 30,000
OXTH 2|02 s ZHZ2AH
30,000,000 * 10 2 30,000
OXEH ZR0IS HHZ2AF
30,000,000 * 10 2 30,000
03 AIEE0HYI 12,285 0 12,285
OU0ISE2 AL 20H]
4,550,000, 0002 *0.27% 12,285
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